LD BITE

f
ARG KA BMEEABR R IHS

TRLZERF) EFHR

S LEX K




£ & U 2 b

B{il:om Bfij:cm

g2 F & B EBE B | B Bl KESEHXE B & 8 B EE B | 1B Bl (KESEHXER
1 |#% 58 #8318 — BB|ATIT 308 32 |P40vHlT BB ERERH ¥ 1008F
2 |1 = o = e 408 33 |BHREEH & E B[t (#84) | 55.2XT73.1
3 |MKBEit IR B #E FK ¥ 408 34 |SBEES T A 8 W83 (184 |139.8X50.6
4 [BBNZF27 B S S ¥ 408 35 [#L BT | E A KD BB EhEE (18 FS) [130.4X51.8
5 |HEVDFE #* B [E 51848 402 36 |BREEER N b EE 5| B3 4S) | 53.8%68.0
6 |JTHEiR ARBRLTH %2 408 3T NI 5 R EIE (BBF) [129.4%41.7
7 [RDHD=E L ARBRLLE ¥ 408 38 | BTl ™A B R #h3E (B84s) | 32.5%X37.3
8 [IEB NI rE M E B E 62 9E E & % REESE | 27.6%35.1
9 IMEBERGEEL) | 8 BB ¥ 208 40 |FBrTlchReE BB T —[iE%RF | 41.9x488
LLAZR < LR 6 # ®E RABEE 408 41 | BRENFRGER KM 2 ANE B 160.5X387
LRIX<IZE 6 HERIBEAE 802 42 | BIcERERHE (B B 4PE ¥ 445%37.1
B e S WL — EPB ¥ 1008 43 |iBBI DU W/2-) [l % 20.5X14.2
B8 2\ E &Epe % 408 44 |58 1 SREESB=REBH %2 40.4%315

STINS L £ % Z[R @ 62 45 |7F = U X tfESEe | 45.8%606 |
SR | FRB B ZRE 68 46 | F3UhmE BN X 4EESE | 45.0%61.0
BEAPIRIE] £ H ZElm@E 62 47 |BIER— B K8ligs8e | 57.3x71.8
=L AN EH BRBE 68 48 |FEe ZH HEfEBE | 60.7X75.9
7&K EH ZBRBE 62 49 |7k 3 R B R[EsSe | 51.0X70.8
SAE=EKE ZH ZRB 62 : 50 [BEE) MEWI2e--] |ER B F|5e 36.3%6.1
KRIDHERAT BN £ % ZE[R @ 62 51 [FE TEMEOT - J|&@ Rk & 3|58 M 36.3%6.1
EEES % B ZRE 62 52 |BEQ) (HE—%---] [&R E 3|58 M 36.3%6.1
B50W)l| DB S SRk K %2 208 53 |fED) MEEWe--] =R E3E m 36.3%6.1
HDERDE & D18 —8 ¥ 208 54 |F0M BNl |E B F |56 i 36.2%6.0
HDOERY a5 H BKFE 108 55 |HFE) [BEEARRL - - || KIZKEFJE iRt 36.2X6.0
B2l SexiE2 & % — 56 kG [HDLOR. - | KRBT 58 B 36.2%6.2
[EBOEY-nseos- |8 B 8K ¥ 408 57 |F0M M&seE/\e-- ) | XEIEER|5E M 36.2X6.1
S G H = RiB ¥ 208 58 |HFE [HEiIc--+] | O & F|5 M 36.1%6.1
BHEE % BxEdAk 28 59 | ) DERER T2 ] 26.0%20.0
BEDOS it B —l ¥ 502F 60 |RDIFEVDLAND [ H—)U |i6kRE 23.3X27.2
BRZE R E KB ¥ 508F 61 |l EhY SRR E 27.7X38.7
AR A 9 WtEERE [97.2X152.5 62 |18 W& BB ®8UNIS5T | 49.8%39.7




